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QUESTION 1

What can be done to guarantee bandwidth when connecting SANs using IP? (Choose two.)
A. create VPNs with Quality of Service (QoS) for FCIP

B. create firewalls to isolate traffic

C. create separate physical IP networks

D. create virtual SANSs to isolate FCIP traffic on the fabric

Correct Answer: AC

QUESTION 2

What is an advantage of a core/edge topology?

A. Fewer edge switches are used in this design thereby reducing the overall cost.
B. It has performance characteristics suitable fortiering.

C. Multiple backup processes can now run on one ISL.

D. There is increased management for SAN capacity planning.

Correct Answer: B

QUESTION 3

A customer has an application that is considered mission critical. In the event of a disaster, they want a replication
solution that will guarantee that the replicated data is identical to the source without any data loss. Which solution
accomplishes this?

A. asynchronous replication

B. synchronous replication

C. fan-out replication

D. bidirectional replication

Correct Answer: B

QUESTION 4
What is the greatest challenge when extending a SAN?

A. to maintain speed and availability
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B. to extend a SAN using the smallest number of IP links
C. to exclude dark fiber
D. to use all wires including those for IP telephony

Correct Answer: A

QUESTION 5

What are three possible outcomes of a storage assessment? (Choose three.)
A. ROI on existing storage

B. ownership and usage statistics

C. SAN design

D. inventory of systems

E. standards for the SAN

F. storage utilization

Correct Answer:. BDF
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